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L. A class of twenty-four students is 2oing on a fishing trip on Saturday. The table shows the cost of the items

needed for the rip.

Item Cost
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Mealwonns 1.50 ecach carton
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22.60 cach jar development of
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2.50 each package

class is going tw need three dozen worms, two cartons of mealworme,

; S” 3‘5} cach galion

and two jurs of scented

marshmallows. What is the tomal cost of these items? Show and label vour work

symbols.
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¢ The class will need to buy twenty gallons of gas for the Boat engine. How much money will they spend
P Show and label vour wosk,

d. On Monday 16 of the students returned permission ships. On Tuesday another 176 of the students
returned permission ships, What fraction of the students sill needs 1o retarn 2 permussion ship? Show

amd fubef vour work,
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sbluemont
Text Box
Minimal development of basic skills.
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Lack of process development.


2. Moily and hier mother made a quilt. The guilt was 6 feet long and 4 feet wide.

Minimal evidence of
understanding of
situations.

Inappropriate
processes.
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a. How many inches of ribbon were needed to go around the owtside edge of the quilt? Show and fabel vour
wark.
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& How many 12212 mch squares did Molly need to complete her quiht” Showe and Jubol vour work

H 273 of the squares are green and 13 are vellow, how many yelow squares would Molly need? Show
anted fubel vour swork
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Inappropriate processes.
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a, a. Complete the table below, b. Look at the fullowing table. Complete the table
Show vour woirk, and then write the rule for the table. Show VO
swork.
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. George’s room is tofally dark due to a power outage. What is the probability he will get a pair of Orange
or blue pants cut of the closet the first ime? Write the probabiity as a fraction. Show asd labol Vo
waork.

.

¢. I George chouses one shirt and one pair of pants, how many possible combinations will he have 1o
choose from? Show and label vonr work.




3. Your family is taking a road trip during the next school break. You drive 60 miles per hour. On the first day of

vout rip. you will drive a total of eight hours.
a. Complete the table below to show how many miles your family will ravel the first day.

Driving Time

: ; e g

Hours r ] L 7 ‘ 4 g i
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Miles | 60 - - e 7 300

b, On the first day of your trip vour family starts driving at 6:45 a.m. You siop to cat breakfast at 9:15 am.
How long did your family drive before stopping for breakfust? Show and label vour work.
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d. 1 your family wavels 750 miles, bo
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